ANNALES

UNIVERSITATIS MARIAE CURIE-SKŁODOWSKA LUBLIN – POLONIA

VOL. LXXIX, NO. 1, 2025

SECTIO A

75 - 83

ZDZISŁAW OTACHEL

On a variant of Jessen–Mercer's inequality

ABSTRACT. A new variant of Mercer's inequality [A.McD. Mercer, A variant of Jensen's inequality, *J. Inequal. Pure Appl. Math.* 4(4) (2003) Article 73] of Jessen's type is given. Moreover, versions of Chebyshev's inequality and Hardy–Littlewood–Pólya inequality for some abstract nonnegative linear functionals are obtained.

1. Introduction and motivation. Jensen's inequality [13] reads:

If f is a convex function on an interval I containing real numbers x_k (k = 1, ..., n), then

(1)
$$f\left(\sum_{k=1}^{n} w_k x_k\right) \le \sum_{k=1}^{n} w_k f(x_k)$$

whenever w_k (k = 1, ..., n) are positive weights with the sum equal to 1.

The following integral version of (1) also holds true (see e.g. [27, Theorem 2.3]):

$$(2) \hspace{1cm} f\left(\int_{E}w(t)x(t)d\mu(t)\right) \leq \int_{E}w(t)f(x(t))d\mu(t),$$

where $w: E \to [0, \infty]$ and $x: E \to I$ are functions that are integrable with respect to some nonnegative measure μ on a σ -algebra of subsets of a set E with $\int_E w(t) d\mu(t) = 1$.

 $^{2010\} Mathematics\ Subject\ Classification.\ 47A63,\ 39B62.$

Key words and phrases. Convex function, Jensen's inequality, Jessen's inequality, Chebyshev's inequality, Hardy–Littlewood–Pólya inequalities, Jessen-Mercer's inequality, similarly ordered functions, linear means.

Mercer [19, Theorem 1.2] proved the following variant of (1).

Let α, β, x_k be real numbers with $\alpha \leq x_k \leq \beta$ (k = 1, ..., n). If f is a convex function defined on an interval containing α and β , then

(3)
$$f\left(\alpha + \beta - \sum_{k=1}^{n} w_k x_k\right) \le f(\alpha) + f(\beta) - \sum_{k=1}^{n} w_k f(x_k).$$

The main step in his argumentation was [19, Lemma 1.3]:

if f is a convex function on a interval containing the numbers $\alpha \leq y \leq \beta$, then

$$f(\alpha + \beta - y) \le f(\alpha) + f(\beta) - f(y).$$

Following Mercer's idea, by (2) and the above lemma we easy obtain the following observation.

Let y = y(s) and w = w(s) be μ -measurable functions, where $\alpha \leq y(s) \leq \beta$, $s \in E$ for certain real numbers $\alpha \leq \beta$, the function w is positive and integrable up to 1.

If f is a convex function on an interval containing α and β , then

$$(4) \quad f\left(\alpha+\beta-\int_E w(s)y(s)d\mu(s)\right) \leq f(\alpha)+f(\beta)-\int_E w(s)(f\circ y)(s)d\mu(s).$$

Mercer's inequality (3) gave rise to many generalizations and applications, see Abramovich et al. [1, 2, 3] Klaričić Bakula et al. [4, 5], Barić et al. [6], Cheung et al. [8], Gavrea [10], Matković et al. [16, 17, 18] and many others.

In [22] (cf. also [23]), Niezgoda gave the following generalization of (3):

(5)
$$f\left(\sum_{j=1}^{m} y_j - \sum_{j=1}^{m-1} \sum_{i=1}^{n} w_i x_{ij}\right) \le \sum_{j=1}^{m} f(y_j) - \sum_{j=1}^{m-1} \sum_{i=1}^{n} w_i f(x_{ij}),$$

where $w_i \geq 0$, $\sum_{i=1}^n w_i = 1$, (y_j) is a real m-tuple, (x_{ij}) is a real $n \times m$ matrix and f is a convex function on an interval containing all of y_j and x_{ij} . He proved that (5) holds if the m-tuple (y_j) majorizes each row of the matrix (x_{ij}) [22, Theorem 2.1] or $\sum_{k=1}^m (y_k - x_{ik}) = 0$ and $(y_j) - (x_{ij})$ and (x_{ij}) are pairs of separable m-tuples for every $i = 1, 2, \ldots, n$ [22, Theorem 3.1]. The key tool in both cases was Hardy–Littlewood–Pólya inequality (HLP-inequality, for short), see [11, 9, 20, 21]:

(6)
$$\sum_{j=1}^{m} p_j f(x_j) \le \sum_{j=1}^{m} p_j f(y_j),$$

where f is a real convex function, (x_j) , (y_j) are real m-tuples and (p_j) is an m-tuple with positive entries.

The integral version of inequality (6):

(7)
$$\int_{E} (f \circ x)(s)p(s)d\mu \le \int_{E} (f \circ y)(s)p(s)d\mu,$$

where x(t), y(s), p = p(t) are measurable and p(x) is nonnegative with $\int p(t)d\mu > 0$, also holds true under appropriate assumptions about the integrand functions, see e.g. [7, 11, 26]. Continuous generalizations of inequality (5) were studied in [12, 15, 26].

The functionals $A(x) = \sum_{k=1}^{n} w_k x_k$ and $A(x) = \int_E w(t) x(t) d\mu(t)$, occurring in Jensen's inequalities (1) and (2), are fundamental examples of *linear means*.

An abstract linear mean is a linear nonnegative functional A acting on a certain real linear space L of some real-valued functions defined on a given nonempty set E such that L contains the function \mathbb{I} constantly equal to 1 and $A(\mathbb{I}) = 1$.

For $x \in L$ and A being a linear mean on L, the following inequality established by Jessen [14] (see also [27, Theorem 2.4]):

(8)
$$f(A(x)) \le A(f \circ x)$$

generalizes both versions of Jensen's inequalities (1) and (2).

An inequality generalizing in the same spirit two Mercer's variants of Jensen inequality (3) and (4), i.e.,

(9)
$$f(\alpha + \beta - A(z)) \le f(\alpha) + f(\beta) - A(f \circ z),$$

where $z \in L$ and $\alpha \le z(s) \le \beta$, $s \in E$, was obtained in [8].

In Section 3 of this article, we will prove a counterpart of the inequality (5) for linear means and linear nonnegative functionals acting on abstract spaces of real bounded functions. Simultaneously, this result generalizes an integral version of the inequality given recently by the author in [26, Theorem 3] and provides an answer for open problem raised in [15]. The path to the goal leads through the generalizations of Chebyshev's inequality and HLP inequality for nonnegative functionals. This topic is considered in Section 2.

2. Versions of Chebyshev's inequality and HLP-inequality for non-negative functionals. Let L be a class of some bounded real-valued functions measurable with respect to a given σ -algebra of subsets of a nonempty base set E, having the properties:

L1: $x, y \in L \Rightarrow \alpha x + \beta y \in L$ for all $\alpha, \beta \in \mathbb{R}$;

L2: the index functions I_Z of measurable sets $Z \subset E$ belong to L;

L3: $x, y \in L \Rightarrow xy \in L$.

Let B be a linear nonnegative functional on L, i.e. any real linear functional with $x \ge 0 \Rightarrow B(x) \ge 0$, $x \in L$. For linear functionals, nonnegativity is equivalent to isotonicity: $x \le y \Rightarrow B(x) \le B(y)$, $x, y \in L$.

The inequality (see e.g. [27, Section 7.1])

(10)
$$\int_E a(s)p(s)d\mu \int_E b(s)p(s)d\mu \le \int_E a(s)b(s)p(s)d\mu \int_E p(s)d\mu,$$

where a, b and positive p are measurable functions with respect to some nonnegative measure μ on a σ -algebra of subsets of a set E holds for similarly ordered a and b, i.e.,

$$[a(s) - a(t)][b(s) - b(t)] \ge 0$$
, for $s, t \in [0, 1]$,

provided that the integrals exist and $\int_E p(s)d\mu > 0$.

This is a newer version of the well-known classical inequality established by Chebyshev in years 1882–1883. There are several results which show that (10) is valid under more general conditions, see e.g. [24]. Note that $\int_E a(s)p(s)d\mu$ is an example of nonnegative functional B that acts on $a \in L$.

Here, we are particularly interested in a general variant of Chebyshev's inequality for nonnegative functionals.

Proposition 1. Let $a, b \in L$ and B be a nonnegative linear functional on L. If a and b are similarly ordered, then

(11)
$$B(a)B(b) \le B(ab)B(\mathbb{I}).$$

Proof. Inequality (11) is a consequence of the following identity:

$$B(ab)B(\mathbb{I}) - B(a)B(b) = \frac{1}{2}B_s(B_t[a(s) - a(t)][b(s) - b(t)]),$$

where B_t and B_s are copies of B acting on functions of t variable or s variable, respectively.

For further considerations we recall some well-known results on convex functions (see e.g. [28, Theorem 2.1.5]). Let $f: \mathbb{R} \to \mathbb{R}$ be a convex function. The function f is continuous on \mathbb{R} . There exist finite $f'_-(t)$ and $f'_+(t)$, i.e. the left-hand and the right-hand derivative of first order, respectively, for all $t \in \mathbb{R}$. If $t_1 < t_2$, then $f'_-(t_1) \le f'_+(t_1) \le f'_-(t_2) \le f'_+(t_2)$. The subdifferential of f denoted by ∂f is the set of all functions $\phi: \mathbb{R} \to \mathbb{R}$ such that $f'_-(t) \le \phi(t) \le f'_+(t)$. Every $\phi \in \partial f$ is a nondecreasing function. If f is nondecreasing convex, then f'_- and f'_+ are both nonnegative showing that ϕ is nonnegative, too. Moreover, for every $s, t \in \mathbb{R}$ and $\phi \in \partial f$,

(12)
$$f(s) - f(t) \ge (s - t)\phi(t).$$

It is known (see [7, 9, 21, 25]), that Chebyshev's type inequalities yields generalizations of HLP-inequalities. This is confirmed by the next result.

Proposition 2. Let $f : \mathbb{R} \to \mathbb{R}$ be a convex function with $\phi \in \partial f$ and B be a linear nonnegative functional on L with $A(\mathbb{I}) > 0$.

For $x, y \in L$ such that $f \circ x$, $f \circ y$, $\phi \circ x \in L$, the inequality

(13)
$$B(f \circ x) \le B(f \circ y)$$

is valid if y - x and x are similarly ordered and

(14)
$$B(y) = B(x) \quad or \quad \begin{cases} f \text{ is nondecreasing,} \\ B(y) \ge B(x). \end{cases}$$

Proof. By (12), $(f \circ y)(t) - (f \circ x)(t) \ge [y(t) - x(t)](\phi \circ x)(t)$ for all $t \in E$. The functions $f \circ y$, $f \circ x$, $(y - x) \cdot \phi \circ x$ are bounded, so belong to L. Isotonicity of B gives

(15)
$$B(f \circ y) - A(f \circ x) \ge B((y - x)\phi \circ x).$$

Clearly, x and $\phi \circ x$ are similarly ordered for any nondecreasing $\phi : \mathbb{R} \to \mathbb{R}$. By the hypothesis, y - x and x are similarly ordered. As a consequence,

$$[(y(s) - x(s)) - (y(t) - x(t))][x(s) - x(t)]^{2}[\phi \circ x(s) - \phi \circ x(t)] \ge 0$$

and x(s) - x(t) = 0 implies $\phi \circ x(s) - \phi \circ x(t) = 0$ for all $s, t \in E$. It follows that y - x and $\phi \circ x$ are similarly ordered. Moreover, $\phi \circ x$ is bounded whenever y is bounded, because $\phi \in \partial f$ is nondecreasing and finite at every point of its domain \mathbb{R} .

Utilizing Chebyshev's type inequality (11), we get

(16)
$$B((y-x)\phi \circ x) \ge \frac{B(y-x)B(\phi \circ x)}{B(\mathbb{I})}.$$

Combining inequalities (15) and (16), we conclude (13) whenever (14), because every $\phi \in \partial f$ is nonnegative for nondecreasing f and consequently, $B(\phi \circ x) \geq 0$.

Recently, related results in case of integrals were obtained by Barnett et al. [7, Theorems 6–7] and Otachel [26, Theorem 2].

3. A variant of Mercer's inequality in Jessen's sense. Let L and K be real linear spaces of some bounded real-valued measurable functions defined on given nonempty base sets E and F, respectively, that fulfil conditions L1–L3 from Section 2.

Consider a linear and nonnegative functional B on K and fix $0 \le b \in K$ such that B(b) > 0. It is clear that the functional $h \mapsto \frac{B(hb)}{B(b)}$ is a linear mean defined for $h \in K$.

Theorem 1. Let A be a linear mean on L, B be a linear nonnegative functional on K and $f : \mathbb{R} \to \mathbb{R}$ be a convex function with $f(L) \subset L$.

Assume that $x_s = x_s(t) = x(s,t)$, y = y(t), $s \in E$, $t \in F$, are bounded real-valued functions, a = a(t), b = b(t), $t \in F$ are bounded nonnegative functions with a(t) + b(t) = 1, $t \in F$ and B(b) > 0, such that x_s, y, a, b , $f \circ y, f \circ x_s, \phi \circ x_s \in K$, $s \in E$, $\phi \in \partial f$ and $B(ax_s), B(af \circ x_s) \in L$.

If $y - x_s$ and x_s are similarly ordered for every $s \in E$ and

$$(17) B(y) = B(x_s), \ s \in E,$$

then

(18)
$$f\left(\frac{B(y)}{B(b)} - \frac{AB(ax_s)}{B(b)}\right) \le \frac{B(f \circ y)}{B(b)} - \frac{AB(af \circ x_s)}{B(b)}.$$

Proof. By identity (17), for any $s \in E$ we have

(19)
$$f\left(\frac{B(y)}{B(b)} - \frac{B(ax_s)}{B(b)}\right) = f\left(\frac{B(bx_s)}{B(b)}\right).$$

Since $\frac{B(bx_s)}{B(b)}$ is a linear mean acting on x_s , applying Jessen's inequality (8), we get

(20)
$$f\left(\frac{B(bx_s)}{B(b)}\right) \le \frac{B(bf \circ x_s)}{B(b)}.$$

According to Proposition 2, inequality (13) leads to

(21)
$$\frac{B(af \circ x_s)}{B(b)} + \frac{B(bf \circ x_s)}{B(b)} = \frac{B(f \circ x_s)}{B(b)} \le \frac{B(f \circ y)}{B(b)}.$$

Thus, by (19), (20) and (21), we conclude that

$$(22) f\left(\frac{B(y)}{B(b)} - \frac{B(ax_s)}{B(b)}\right) \le \frac{B(f \circ y)}{B(b)} - \frac{B(af \circ x_s)}{B(b)}, \ s \in E.$$

According to our assumptions, both sides of inequality (22) are functions (of variable s) from the space L. Since A is a linear mean, we obtain

$$Af\left(\frac{B(y)}{B(b)} - \frac{B(ax_s)}{B(b)}\right) \le \frac{B(f \circ y)}{B(b)} - \frac{AB(af \circ x_s)}{B(b)}.$$

On the other hand, applying Jessen's inequality (8) second time, we see that

$$f\left(\frac{B(y)}{B(b)} - \frac{AB(ax_s)}{B(b)}\right) \le Af\left(\frac{B(y)}{B(b)} - \frac{B(ax_s)}{B(b)}\right).$$

Combining the above two inequalities, we derive inequality (18).

Remark 1. If $a(t) \equiv 0$, then $b \equiv 1$ and consequently, inequalities (18) and (22) reduce to

$$f\left(\frac{B(y)}{B(\mathbb{I})}\right) \le \frac{B(f \circ y)}{B(\mathbb{I})},$$

which is a variant of Jessen's inequality (8) for the linear mean $\frac{B(y)}{B(0)}$.

In the example below we show that inequality (9) is a particular case of inequality (18) obtained in Theorem 1.

Example 1. For $B(y) = y_1 + y_2$, $y = (y_1, y_2) \in K = \mathbb{R}^2$ and an arbitrary chosen function $z = z(s) \in L$, where $\alpha \leq z(s) \leq \beta$, $s \in E$, for some $\alpha, \beta \in \mathbb{R}$, let us define

$$a = (1,0), \quad E_1 = \left\{ s \in E : \alpha \le z(s) < \frac{\alpha + \beta}{2} \right\},$$

 $b = (0,1), \quad E_2 = \left\{ s \in E : \frac{\alpha + \beta}{2} \le z(s) \le \beta \right\},$

$$y = (\alpha, \beta), \quad x = \begin{cases} (z(s), \alpha + \beta - z(s)), & s \in E_1, \\ (0, 0), & s \in E_2, \end{cases}$$
$$\tilde{y} = (\beta, \alpha), \quad \tilde{x} = \begin{cases} (z(s), \alpha + \beta - z(s)), & s \in E_2, \\ (0, 0), & s \in E_1. \end{cases}$$

Additionally, assume the mathematical objects introduced above satisfy the remaining compliance conditions specified in Theorem 1. It is easily seen that $y-x_s$ and x_s are similarly ordered and $\tilde{y}-\tilde{x}_s$ and \tilde{x}_s are similarly ordered, for $s \in E$ and for any function $f : \mathbb{R} \to \mathbb{R}$ we have

$$B(b) = 1,$$

$$B(y) = B(x_s) = \alpha + \beta,$$

$$B(f \circ y) = B(f \circ \tilde{y}) = f(\alpha) + f(\beta),$$

$$B(\tilde{y}) = B(\tilde{x}_s) = \alpha + \beta,$$

$$B(af \circ x_s) = (f \circ z)(s), \ s \in E_1,$$

$$B(ax_s) = z(s), \ s \in E_1,$$

$$B(af \circ \tilde{x}_s) = (f \circ z)(s), \ s \in E_2,$$

$$B(a\tilde{x}_s) = z(s), \ s \in E_2.$$

Based on Theorem 1, if f is convex and A is a linear mean on L such that $A(I_{E_k}) > 0$, k = 1, 2, we state that inequality (18) is valid for systems of objects A_1, B, y, x, a, b and $A_2, B, \tilde{y}, \tilde{x}, a, b$, where $A_k h = \frac{A(hI_{E_k})}{A(I_{E_k})}$, $h \in L$, k = 1, 2 are linear means on L. In fact, by (23) we obtain

$$(24) f(\alpha + \beta - A_k(z)) \le f(\alpha) + f(\beta) - A_k(f \circ z), k = 1, 2.$$

Multiplying inequalities (24) by $\varepsilon_k := A(I_{E_k}) > 0$, k = 1, 2 and summing over k, we get

(25)
$$\begin{aligned}
\varepsilon_1 f(\alpha + \beta - A_1(z)) + \varepsilon_2 f(\alpha + \beta - A_2(z)) \\
&\leq f(\alpha) + f(\beta) - (\varepsilon_1 A_1 + \varepsilon_2 A_2) (f \circ z) = f(\alpha) + f(\beta) - A(f \circ z),
\end{aligned}$$

because $\varepsilon_1 + \varepsilon_2 = 1$ and $\varepsilon_1 A_1 + \varepsilon_2 A_2 = A$.

On the other hand, the convexity of f ensures

(26)
$$\varepsilon_1 f(\alpha + \beta - A_1(z)) + \varepsilon_2 f(\alpha + \beta - A_2(z))$$

$$\geq f(\alpha + \beta - (\varepsilon_1 A_1 + \varepsilon_2 A_2)(z)) = f(\alpha + \beta - A(z)).$$

Combining (25) and (26), we obtain (18).

The specification described in the next example reduces inequality (18) to Niezgoda's inequality (5) (cf. [22, Theorem 3.1, Corollary 3.3]).

Example 2. Using notation as in Theorem 1, let $L = \mathbb{R}^n$ and $K = \mathbb{R}^m$. For $y = (y_1, \dots, y_m) \in K$, $z = (z_1, \dots, z_n) \in L$ and given positive vectors (p_1, \dots, p_m) and (w_1, \dots, w_n) with $\sum_{s=1}^n w_s = 1$ define $A(z) = \sum_{s=1}^n w_s z_s$,

the linear mean on L and $B(y) = \sum_{t=1}^{m} p_t y_t$, the nonnegative linear functional on K. Let $x = (x_{st})$ be a real matrix $n \times m$, $a = (1, \ldots, 1, 0)$, $b = (0, \ldots, 0, 1) \in \mathbb{R}^m$.

If $(y_1 - x_{s1}, \ldots, y_m - x_{sm})$ and (x_{s1}, \ldots, x_{sm}) are similarly ordered and the condition (17) holds in the form $\sum_{t=1}^{m} p_t y_t = \sum_{t=1}^{m} p_t x_{st}$, for every $s = 1, \ldots, n$, then by Theorem 1 we get (18) in the form

$$f\left(\frac{1}{p_m} \left\{ \sum_{t=1}^m p_t y_t - \sum_{t=1}^{m-1} p_t \sum_{s=1}^n w_s x_{st} \right\} \right)$$

$$\leq \frac{1}{p_m} \left\{ \sum_{t=1}^m p_t f(y_t) - \sum_{t=1}^{m-1} p_t \sum_{s=1}^n w_s f(x_{st}) \right\},$$

where $f: \mathbb{R} \to \mathbb{R}$ is a convex function. If $p_t = p_m$ for every $t = 1, \dots, m$, the above inequality becomes (5).

References

- Abramovich, S., Klaričić Bakula, M., Matić, M., Pečarić, J., A variant of Jensen– Steffensen's inequality and quasi-arithmetic means, J. Math. Anal. Appl. 307 (2005), 370–386.
- [2] Abramovich, S., Klaričić Bakula, M., Banić, S., A variant of Jensen–Steffensen's inequality for convex and superquadratic functions, J. Inequal. Pure Appl. Math. 7(2) (2006), Article 70.
- [3] Abramovich, S., Barić, J., Pečarić, J., A variant of Jessen's inequality of Mercer's type for superquadratic functions, J. Inequal. Pure Appl. Math. 9(3) (2008), Article 62.
- [4] Klaričić Bakula, M., Matković, A., Pečarić, J., Variants of Čebyšev's inequality with applications, J. Inequal. Appl. (2006), Article 39692.
- [5] Klaričić Bakula, M., Matković, A., Pečarić, J., On the Jensen-Steffensen inequality for generalized convex functions, Period. Math. Hungar. 55(1) (2007), 19–34.
- [6] Barić, J., Matković, A., Pečarić, J., A variant of the Jensen-Mercer operator inequality for superquadratic functions, Mathematical and Computer Modelling 51 (2010), 1230–1239.
- [7] Barnett, N. S., Cerone, P., Dragomir, S. S., Majorisation inequalities for Stieltjes integrals, Applied Mathematics Letters 22 (2009), 416–421.
- [8] Cheung, W. S., Matković, A., Pečarić, J., A variant of Jensen's inequality and generalized means, J. Inequal. Pure Appl. Math. 7(1) (2006), Article 10.
- [9] Dragomir, S. S., Some majorisation type discrete inequalities for convex functions, Math. Inequal. Appl. 7(2) (2004), 207–216.
- [10] Gavrea, I., Some considerations on the monotonicity property of power means, J. Inequal. Pure Appl. Math. 5(4) (2004), Article 93.
- [11] Hardy, G. H., Littlewood, J. E., Pólya, G., Some simple inequalities satisfied by convex functions, Messenger Math. 58 (1928/29), 145–152.
- [12] Horvát, L., Some notes on Jensen-Mercer's type inequalities; extensions and refinements with applications, Math. Inequal. Appl. 24(4) (2021), 1093-1111.
- [13] Jensen, J. L. W. V., Sur les fonctions convexes et les inéqualités entre les valeurs moyennes, Acta Math. 30 (1906), 175–193.
- [14] Jessen, B., Bemaerkinger om konvekse Funktioner og Uligheder imellem Middelvaerdier I, Matematisk Tidsskrift. B (1931), 17–28.

- [15] Maqsood Ali, M., Khan, A. R., Generalized integral Mercer's inequality and integral means, J. Inequal. Spec. Funct. 10(1) (2019), 60–76.
- [16] Matković, A., Pečarić, J., Perić, I., A variant of Jensen's inequality of Mercer's type for operators with applications, Linear Algebra Appl. 418 (2006), 551–564.
- [17] Matković, A., Pečarić, J., A variant of Jensen's inequality for convex functions of several variables, J. Math. Inequal. 1(1) (2007), 45–51.
- [18] Matković, A., Pečarić, J., Perić, I., Refinements of Jensen's inequality of Mercer's type for operator convex functions, Math. Inequal. Appl. 11(1) (2008), 113–126.
- [19] Mercer, A. McD., A variant of Jensen's inequality, J. Inequal. Pure Appl. Math. 4(4) (2003), Article 73.
- [20] Niculescu, C. P., Popovici, F., The extension of majorization inequalities within the frame of relative convexity, J. Inequal. Pure Appl. Math. 7(1) (2006), Article 27.
- [21] Niezgoda, M., Remarks on convex functions and separable sequences, Discrete Math. 308 (2008), 1765–1773.
- [22] Niezgoda, M., A generalization of Mercer's result on convex functions, Nonlinear Anal. **71**(7–8) (2009), 2771–2779.
- [23] Niezgoda, M., A generalization of Mercer's result on convex functions II, Math. Inequal. Appl. 18(3) (2015), 1013–1023.
- [24] Otachel, Z., Chebyshev type inequalities for synchronous vectors in Banach spaces, Math. Inequal. Appl. 14(2) (2011), 421–437.
- [25] Otachel, Z., Synchronous sequences and inequalities for convex functions, Appl. Math. Comput. 247 (2014), 865–871.
- [26] Otachel, Z., Fujiwara's inequality for synchronous functions and its consequences, Biom. Lett. **60**(2) (2023), 159–175.
- [27] Pečarić, J. E., Proschan, F., Tong, Y. L., Convex Functions, Partial Orderings, and Statistical Applications, Academic Press, Inc., Boston, MA, 1992.
- [28] Zălinescu, C., Convex Analysis in General Vector Spaces, World Scientific Publishing Co., Inc., River Edge, NJ, 2002.

Zdzisław Otachel

Department of Applied Mathematics and Computer Science University of Life Sciences in Lublin

Alradamials 12

Akademicka 13 20-950 Lublin

Poland

e-mail: zdzislaw.otachel@up.lublin.pl

Received May 18, 2025.